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BB oF SSHARMER: BEEBH N — /N EERR  SSERE MR , B&:(PL, t: 15 mm), {ZE&: P001-1[], MR EE:
43.92 M2
SSEEEHE:
EEM B N — /MR ZSR AR (4R:PL, t: 15 mm), BB E: 0 kg/M2, BT REHE: 1.00 M2/M2, BF X It BEMRE
#&: 0.00 M2/M2
B O#MmE &= 0.00 M2
EE: (43.92-[B8 O E#&] 0.00)*[{EA & 1E]1.00*0/1000= 0.000 T(M§)
RMEE: (43.92-0.00) [MEAIEIE]1.00= 43.92 M2
By K #t 78 R E [ ET]= 0.0 M2
B 5T S - DN SR, A AR
Bl 5T E -8R 2 Eh 40

JE: 2F ,SSHItR A5 BEpH A —/NEERREIR ,SSHE MR , RE:(PL, t: 15 mm), fZ&: P001-1 [], iR EE:
180.90 M2
SSEEIE:
EEM RS N — /N ZSR AR (4R:PL, t: 15 mm), BB E: 0 kg/M2, BB REHE: 1.00 M2/M2, BF Xt BEMRE
#&: 0.00 M2/M2
B O(3):
+[W 7]2.00*3.36+[W 6]6.00*3.36+[W 6]6.00*3.36+[W 6]6.00*3.36 = 67.20 m2
B OMEmEE=67.20 M2
EE: (180.90-[B1 O E &) 67.20)*MEA£1E]1.00*0/1000= 0.000 T (Mf)
FHE&: (180.90-67.20)*[EA £ 1E]11.00= 113.70 M2
B K # 7B REE:[FET]= 0.0 M2
AR E- SRR, IZE R
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